Nr I d w1 W w3 | polynomials

1 RN

2 10 | 24 i i 3| Dy 3

3 11 18 2 1 & | @15 Dg 3 0o

4 11 16 1 = 3| @i Py Do

5 12 | 15 i 3 2| @5 93

6 12 | 13 | 2| & | 3 |0

7 12 | 12 3 3 | @ B D2 D3

8 14 | 12 3 3 3 | 93, 93 @5

9 14 | 10 S 2| @Y 05 3

10 14 9 2 3 i | ®2 o,

11 15 8 i i 3@ o, 0

12 16 | 21 i 3 3| @y 3

13 16 | 17 | 2| & | & |17

14 16 | 15 : 3 3| @5 @2

15 17 30 | & | % 2| Dy Dy Pg 3 Py
16 17 24 i = 2| @oy Pg D D3 Do
17 18 | 48 i 1 % | Pus O3

18 18 20 i 1 2| By By P2 P2

19 18 19 | 5| & | 5 | P

20 18 | 12 3 3 i | @3, 02 @3

21 19 32 2 1 32| g0 4 0y

22 19 | 24 | & | % 3] Doy P1p B Py Py D
23 19 | 30 LA | | @30 Rio P D5 Do
24 20 9 : 3 3 | 03 @3 92

25 20 7 z 2 3 93 92

26 20 | 40 | 1 i 3] By s

27 20 6 3 3 3 | Bf 3 0F @2

28 20 | 27 | 2| % 3| ®ar P

29 21 12 3 3 S| @12 02 0% 03 @3 B2
30 21 36 2 1 | @6 D1 Pa o

31 22 | 60 | & | % = | @eo P12 D3

32 22 | 15 | & 3| @5 B2 D3 02

33 23 | 42 | & 3 2| Pup 1y P D3 Dy
34 23 | 32 S| | e P Dy D

35 23 | 40 | & | % i | Dy Dy Dy 0y

36 23 | 36 Pl | | By Pio B Py D5 Do
37 24 | 33 | & | 3 | g3 3

38 24 | 25 | & | 5% | 3= | P25 s

39 24 28 i 1 3| Bog Byy 0? B2




Nr I d w1 W w3 | polynomials

40 24 5 : : 2 | @} ot

41 24 | 25 | o | £ | 5 | Pas 5

42 24 | 21 3 3 3| @y 92

43 24 | 33 | & | & 3| @33 @3

44 24 60 i 1 | oo P30

45 25 | 24 3 1 3| @3, B5 D D5 o

46 26 24 | & 3 4103, 92 0

47 26 18 % 2 3| Bl By BZ Dy 3

48 26 | 15 | & | 3 | @Y 02 @y

49 26 | 18 & | 0% 02 @

50 26 | 48 | & | 1 3| Dug Doy 3

51 27 | 16 3 3 & | D D4 0o

52 27 32 = 1 3| @30 Pip Py Do

53 27 14 i 2 2| @3, o7 03

54 27 4 1 1 1| o] o o¢

55 28 | 39 | & | % = | @59 3

56 28 | 2 | 3| & 3| @y

57 28 60 i i 2| ®go P2 D5

58 28 | 24 3 3 3| Doy Ppp B2 B BT D2
59 28 | 45 i 2 3| Pas D5

60 29 54 Z % B D5y D15 Pg 3 P2

61 29 40 = o = | @ag P19 Ps D5 Dy

62 29 | 50 | 5 | % 2| @50 P10 s D2

63 29 36 i = 2| @36 D1 Py P D3 Do
64 29 | 48 Y | B | Pus Pis P D3 Do

65 29 36 = 2 3| @36 P1s P12 P Py D5 0o
66 30 | 84 | & | 3 2| Bgy D12 D5

67 30 36 5 3 5 | @36 Pis P12 B D7 D3
68 30 | 31 | 2| S | B ey

69 30 30 3 i 2| D39 Py5 Prg D2 D2 03
70 30 | 56 i i 3| @56 07

71 30 | 31 | &£ | X | B ey

72 30 | 21 z 2 | @3 @3

73 30 12 i 1 | @3, &g F 02 02 B2
74 31 56 2 1 2| @56 Py Dy Do

75 31 | 48 2 5 | | Pas Pig Ps Dy Do

76 32 15 | & 3 = | 92, 92 0F @2

77 211 | &£ 2| 2 | e} 92

78 32 | 35 i i 3| @5 2




Nr I d w1 W w3 | polynomials

79 32 33 2 = 3| g3 D1y Dy

80 32 9 5 3 L | @) o3 02

81 32 45 Z 3 | a5 By D4

82 32 | 15 : : | @3 @l

83 33 20 | 15 1 = | Dag D2, D2 D2 03 B2
84 33 60 i 1 L | g Pyp P12 P Dy o
85 34 | 96 | & | % 32| Do Py

86 34 | 30 | 2 i 2| 92 2 D2 D5 3

87 34 | 21 1] &4 3| 93, &7 @2

88 34 20 | & i 2| %, 93, 05 2 D3

89 34 | 28 T & | 2k o 93

90 34 24 3 = 3| @og Byp BF D5 D3 02 2 B2
91 34 60 2 1 | oo P30 P15 P

92 34 45 i i L | D45 g 5

93 3 | 66 | & | % 3L | @ Doy P 3 o

94 35 48 = 3 | Pas P P12 P Py Py Do
95 35 | 64 | & | i 2| Dpy D4 0y

96 35 12 i i 2| B}, 06 DF B3 By

97 35 8 3 3 3| o of ©F of

98 35 | 54 Sl 2 |8 | s Pis Py P s Py
99 3% | 18 3 2 3| 035 D2 D6 D5 Dy

100 35 48 2 i 1o | Qag Doy D1y B Dy D3 Dy
101 | 36 | 51 | £ | % | @5 @2

102 | 36 | 37 | & | 9 | I | Qs

103 | 36 | 44 | & | 3 2| By Doy B2 D2

104 36 80 z i | Pso D5

105 | 36 | 37 | & | £ | ¥ |0y

106 | 36 | 35 z : 2| Dy 02

107 | 36 | 37 | & | & | B | oy

108 36 30 = 3 | @39 P15 P2, s D2 D3
109 | 36 | 51 | & | 2 | @5 3

110 | 36 | 84 z 3 | Psa Puo

111 | 36 | 44 | & | 1 2| By Doy B2 D2

112 | 36 | 37 | & | & | 2 | o

113 36 20 i 1 1| 93, 92, @3

114 38 | 36 | & 3 | 25 B2, B2 Dy

115 | 38 | 26 | & | £ | & |®3 &5 B3

116 | 38 | 21 | & | % 3| @3 02 @

17 | 38 | 27 | 4| £ 3| 93, @5




Nr I d polynomials

&
§
S
w

118 38 45 Dys P15 5 D3

119 38 24 o2, P2, 02 02 Py

120 39 24 ®3, D3 D, O

121 39 70 ®rg Py Pig D5 P2

122 | 39 | 16 P2, B3 B3 B3 B2

123 39 64 Py Pg Py Do

124 39 20 D3, D1 D5 DT Py

125 39 60 Do P3g Pop P19 Ps Do

126 39 36 P2, D15 Dy Dy Py

127 | 39 | 16 ®3, B By Py

[~ o= [Ble |Blo [~im [ol= |Ble |B]= [Gle |o= |me (3] o= (o= (£ [Sl= |o- [H~

128 | 40 | 57 P57 3

120 | 40 | 41 Dy

130 | 40 | 45 By5 P15 P2

131 | 40 | 42 Dy Py Pry OF 3 3
132 | 40 | 41 Dy

133 | 40 | 41 Dy

134 40 72 P72 Poy D9 P

135 | 40 | 33 | & P33 Y,

136 | 40 | 57 D57 D3

137 | 40 | 30 D2, 05 02, B2

AL fesim [eol= ol fooieo [E]5 [B]T |~ [oe |B]D |Ble [s= |Hlo |w S~ QR |5~ (3L (R [ [wi=

138 41 78 Org Pog P P3 P2

139 | 41 | 56 35 | Psg P14 Ps P7 Dy

140 | 41 | 72 3| Brp Doy Bs B 3 Dy

141 41 48 S| Pag Pog D1 Ps B Py Do

142 41 70 B | Dyy Bry Pig Pr Py

143 | 41 54 I | @5y D7 D D3 o

144 | 42 | 120 1 | P20 Pou B3

145 | 42 | 52 % | ©5 Do P B3

146 42 43 | Pas

147 42 84 Dgy Pog Pr

148 | 42 | 40 Dyo Pyg D1 P ] 3
149 | 42 | 43 Dyy

150 | 42 | 30 P2, B2, B2 O3

151 | 42 | 24 ®3, B2, B2 O3

152 42 63 Dg3 P7

153 42 75 Drs D3

154 43 80 Bgy P15 Py D2

155 43 48 Dyg Poy P16 P12 P Py P3 P2

SIS |mim |l [oie [omo [mie [Sle (Bl [oi= (o= Bl |ai= |w |95 |Eo |ol- [oim |Zl5 [wim (o= [Zle [wi= (s [Blo |B]~ ol |oi B2 ol [aie {sie (s (Sl (@[Sl (o= [si= [P]o |om

= [aler [stes [ [mm (oot [l [l {ooim | [aler | [ foim [mim [l [sler (1= [2he [ |l

I8 [ooleo (L [eotm [esim [eol= |eolm [H]5 (o |Sler

156 43 66 Bgs Pog P11 P Py

[
—




Nr I d w1 W w3 | polynomials

157 | 43 | 60 | & | 3 L | @go Pso P15 P12 Pe Py B3 o
158 | 44 21 = 3 90132 o2 03 92

159 | 44 15 | £ | & = | 93, 9 0F @2

160 | 44 | 20 | & | % o | @3y @5 OF

161 | 44 | 27 | & | 2 3 | @ 0y By

162 | 44 | 25 | 2 | & 2 | % @5

163 | 44 18 5 2 & | ®ig D9 Of @3 D4

164 44 12 = 3 i | of, 9% F 03 04 02

165 44 63 Z 2 3| Paz Py Py

166 | 44 | 42 z 2 | @ By OF B2

167 | 44 | 15 | % 3 & | @t @5 04

168 45 28 L 1 32| Dog D2, 2 03 ©F B2

169 | 45 | 48 : i | D35 Dy D D3 Py

170 45 40 = 1 3] 93 @y Ps P5 P2

171 45 28 z 1 2 | 0% 92, 0} @3

172 | 45 | 46 | L | L1 B 1 Doy By

173 45 12 3 1 1| o1, ®F 92 03 03 92

174 | 46 | 132 | & | £ 2L Py Prp O3

175 46 33 = | 5 L | ®s3 92 93 @2

176 | 47 | 90 | & | 3 | d | Poo Pso Pis Pro Ps P Py
177 | 47 | 64 | L | &1 B | @y D6 D5 Py D

178 | 47 | 88 | 2 | 3 H | Pss Ps Dy Do

179 | 47 | 84 | L | & ST | Dgy Pog P1p Pg Dy B3 Do
180 | 47 | 80 1] & | B | By Pig Ps Py Do

181 | 47 | 72 | 5 | % | B | P2 Doy Pip Ps B Py D3 Dy
182 | 47 | 54 | L | 2 3| @54 Poy Pis B D3 Do

183 | 47 | 60 | &2 | & 3| o P30 P2 P12 P1o P Py Py Do
184 | 48 | 69 | 5 | % 5| Peo B3

185 | 48 | 49 | & | B 1 B g, 0,

186 | 48 | 60 | L+ | 1 L | Dy Py Pog Prp Prg P DT D3
187 | 48 | 55 | L | % Z | ®p5 B2

188 | 48 | 49 | & | & | 2 | Py O

189 | 48 7 z z 3 ol 9§

190 | 48 | 45 % i 2| By5 By P2 B2

191 | 48 | 49 | 2 | L | 2 | Dy o

192 | 48 | 49 | &5 | B | I | @y @

193 | 48 | 39 | & | % | ®s9 P2y

194 | 48 | 69 | & | = 3 | ey 03

195 48 | 36 5 1 | ®% B Bro B D2 D3




Nr I d w1 W polynomials

196 48 69 2 2 gy B3

197 | 48 | 105 | 1 i P10

198 | 48 | 21 | & 3, ©7 3

199 | 48 | 55 | & | % P55 2

200 | 48 | 49 | ¥ | B By 7

201 48 20 i i o3, 3, ¢F @5

202 49 90 = : Dgg P3p P13 P19 P D5 P2
203 | 49 | 60 | L | 4 Do Pyg P15 Pr2 Pig P P5 Dy By
204 49 24 3 B3, D1y B D2 D7 B2 D3 B?
205 | 49 | 80 | & Pgo P16 P10 P5 P2

206 | 49 | 72 3 Bro P3g P15 Pg Py Do

-
—

207 49 60 Do P3g Pog P12 P1g P D5 Py P2

208 | 50 | 48 D2, D2, Oy

209 | 50 | 34 32, Oy D2

210 | 50 | 18 ®3, B BE O DL B2

211 50 17 o3, P2
212 50 88 Pgg Py
213 50 27 o2, B2 O3

wie [l [Fes [oi= [Elo [wi= |oi= o [Slo |- |

=
[,

214 50 36 O, P2, DL Oy

215 50 84 Bgy Pyo o1 P3

216 50 96 Qg Pyg D3
217 50 6 o8 OY OF OF
218 51 32 3, Dy Dy

219 51 56 D Pog P1y 7 Py Py

220 | 51 | 26 B3, By3 D3

221 | 51 | 24 33, B3, 3 0, 3 D,

222 51 20 O3, d3, O Oy Py

223 51 64 Dgy P3p Py Do

224 | 52 75 P75 D15 P3
225 52 53 sy
226 52 120 D199 Pyo Ps

227 52 42 Byo Dyy B3, P2 D B2

228 | 52 | 15 33, Ot o p4

229 52 90 Qg9 Py5 P5

230 52 80 Bgg Pyg P35

231 53 102 D1y P3q P 3 P2

232 53 72 Bry oy P15 Pg Py g O3 P9

233 53 96 Dy P39 P 3 Po

Ele |8l (22 (9] [mi e (et [cot= |22 G182 |22 | aim |wim |2~ [Rle ol [E]5 et [eonm [eonm [cotm [cotm [oolco |2~ |ote |Zloo [BI2 |5]s e [ [2ler [Blo [EI [ai= B2 (2w [~ |l |co= || &
() W O M'QD oo IS Wl O IS [=>) N ot EN| EN| %)

[ (Bl |Gl |Zl |Sles |o1= |Gl == |Sl= |Sles |Sl= | Sles |Sles [ootm (Sl |Sler |l |l ool [Bleo [Bl [ |2l [She [er (5= R (3]

ol o [J3 [wi= [oim [ai= |oum |wie fo= G2 | |2 |- |sie [g)s s s (o= (Sl s ]

234 53 60 Do P3g Pog P15 Pig P P5 P3 P2

[}
=)




Nr I d w1 W w3 | polynomials

235 53 90 i 2 ST | @gg P39 P1g P1o Py P P3 P>
236 | 53 | T2 Pl | B | @ P Pis Py P s 0o
237 54 156 | 55 3 2| @5 P12 P

238 | 54 | 68 | - | 1 S| Dog B3y P37 D3

239 54 50 | £ i 2| 92 2, By D3

240 | 54 | 11 | & | & | & |9} ot

241 | 54 | 112 | % z & | @112 7

242 54 0 | L i 2 | 0§, ®2 D of

243 54 44 =1 3 | @2, 04y 92

244 | 54 | 55 | &2 | I | L &5 0y s

245 54 39 | 5| & | 03, @3

246 54 60 = 1 | @) B3 Pi5 P1o 3

247 | 54 | 68 | & | 1 | Dgg D3y BT D3

248 | 54 | 55 | £ | B | X | &5 8y 0

249 54 25 | o i > | P35 D2 2

250 54 28 z 3 1| 935 3, @3

251 | 55 | 104 | & | 1 | i | Pios Ps Py Do

252 55 60 = i = | D2y Doy D2, B Dy D3 Do
253 55 98 = z 52 | Pog P1a P7 Do

254 | 55 | 64 2| 5 | Pos Pax Ps Dy Do

255 55 96 i = 3| g Dy Py Dy o

256 | 55 | 24 | & | % 3] 04, Dy B B By Dy Dy
257 55 84 4| B B | sy Pog Prg 1o D7 Dy Dy
258 55 72 i i & | Pro Py D1 Py Ps Py Do
259 55 14 z 2 2| @), @3 93 92

260 55 30 i i X | 93 D5 D2, BE D2 02 B3 D2
261 56 27 | = 3 2| 03, 92 03 92

262 | 56 | 19 | &5 | & | % |2 @2

263 | 56 | 65 | 5 | 1 | @5 @2

264 56 57 = 2 2| Byr D19 D5

265 56 56 3 i 3| By Pog P1q PE D2 D3
266 56 36 5 3 S| @3 D2, Dy D3 Dy

267 | 56 | 57 | = | 8 | Z |05 &y 03

268 56 15 | £ % | @l of 93 92

269 | 56 | 81 | &2 | 2 | @1 @5

270 | 56 9 5 2 3 | 0§ @F of

271 56 120 3 £ | @120 Peo P30

2712 | 56 | 19 | 3 | & | & |93, @2

273 57 | 36 | & 1 i Dy DI Dy DZ D2 07 B2 D3 P2




Nr I d w1 W w3 | polynomials

274 | 57 | 84 | & | 1 L | Psa Pap Pog D1y Py Do

275 | 57 | 108 | § 1 = | Pros Psy Py Do

276 57 24 : = T | 034 1o @3 B2 07 B2 B3 B2
277 | 58 | 168 | & | 1 % | Pros Pos B3

278 58 | 42 | 4| B | By By B2, D2 B D2 03 P2
219 | 58 | 96 | & | 1% 3 | Pog Pas Pay P3

280 | 58 | 105 | i | & 5 | ®ios P15 Py

281 | 59 | 114 | 2 | 1 | 3B | Dy B3z D D3 Dy

282 59 80 % | 5% T | Pso Pao Pig Pro Ps Py Py
283 | 59 | 112 | 2 | 1 | B dyyp $ig Py Do

284 | 59 | 110 | £ | I | 3L | &0 Do D1p 5 0o

285 | B9 | T2 | &5 | B | @7y Dy P1g P1a Py Ps Py O3 Do
286 | 59 | 108 | & | 1 | ;& | ®ios Pag P12 Ps Py D3 Do
287 | 59 | 100 | & | & | 15 | Pioo P20 Pro D5 Py Do

288 | B9 | 96 | 5 | I | 3 | Do Pyo D1 Pg Py B3 Do
280 | 59 | 64 | & | % 3| @py P32 Prg Py Do

290 59 90 T | B 5| Poo P30 Pig P15 Pip g Ps Py Py
291 59 84 = i 2| Psa Pag Poy Prp B Py Py Py
292 | 59 | 72 OB | & | Pra Py Pog Pro Py Ps Py D3 o
293 | 60 | 87 | o | 3 35 | Ps7 3

204 | 60 | 61 | 2 | ¥ | 2 g

295 60 76 = 1 2| @16 g P2 2

296 | 60 | 140 | & | % 32| D1y Pao 5

297 | 60 | 61 | & | & | B | P

298 60 66 =+ 3 2| Bgp D3z Poy PZ P2 P2

299 | 60 | 63 5 i 5 | ®e3 Doy P2

300 | 60 | 61 | &£ | & | 2 |

301 | 60 | 61 | & | H | 2 | P

302 | 60 | 55 | L | 1 2| B 0

303 | 60 | 104 | & | 1 3| ®ios D13

304 | 60 | 61 | & | & | & | P

305 60 48 = 3 3| Dug Doy By D12 D2 D DT D3
306 | 60 | 87 | & | = 3| Bgy @3

307 60 | 132 | & 1 1| @132 Do

308 60 87 = 2 i | Ogr @2

309 60 | 42 z : L | @ By 02, 02

310 60 35 z £ 2 | 93 9F

311 | 60 | 61 | 32| H | H | P

312 60 66 i Z 2| Bgp D3z Poy BE B2 B2




Nr I d polynomials

&
§
S
w

313 60 61 Pgy

314 60 76 Prg Dz OF P3

315 60 60 D2y D9 Pop P15 5

316 | 62 | 60 B2, B2, B2, B2 By

317 | 62 | 42 B2, By 2, D7 D2 By B2

318 | 62 | 56 P2, B2 D,
319 | 62 | 36 Dl DI, B2, By B2 B3 D3 D3
320 | 62 | 35 P2, oy b2

321 | 62 | 54 32, B2, By B2 D3 D2

322 | 62 | 33 D2, B2, g

323 62 45 3, D7 D3

324 62 | 120 D120 Poo P2a P12 P
325 62 105 P15 o1 O3

326 62 75 P75 Po5 P

327 62 36 P2, B2 B2, B2 DT Dy
328 62 81 g1 Py O3

329 | 62 | 42 32, 02, by B2 B2

330 | 63 | 40 33, 0} B, D,

331 | 63 | 16 DT By Dy Dy

332 | 63 | 60 D2, D2, D1y By B Dy Dy

333 | 63 | 32 D3, 15 By Dy Dy

334 63 90 Dgg Pys P1g P1p D5 Do

335 | 63 | 20 Dl 02, O B D3 2

336 63 64 Pgy P3a P Pg Py Do

337 | 63 | 8 39 37 BT o

338 63 80 Dgy Pyg P16 Ps Py Py

339 63 100 Q100 P50 Py P2

340 64 | 93 g3 P3

341 64 65 Bgs P13 P35

342 | 64 | 15 P4, B Bt P

343 | 64 | 39 D2, D13 02

i [ (22 [t [zl [ [im [ (221 e [ [esim [enm |1 fim (215 |im e |len [oim [ooim [sim | fes (212 o= [ o= [aho |5l [erm Sl ~im [l m Bl fem o |21 |2l

S ol [Eleo [T (@)= Rl o= (SN [S]= [T |Sle |L= Bl [Blee (o= [R]~ |5 |5]- |5 [Bl= [ 8= |~im [oie (Ko [Gle [Els 5] |5 (Bl (o= [Els o= |Ble |R]- |Sl- (o gl [S]e
Bl e [owlm o= [Zlon |oio [~ie (IR [ Sle (S~ (S8 D5 [wim (wim [a= (215 Sl e (g2 |l (2~ 512 [BlE [RBle [wl= [wi= [eim |col= [eom [eoim [F82 (e [l (G5[RS QR [ai= [wi= |25

344 64 65 Dp5 D13 O3
345 | 64 | 63 Doz Poy P D3
346 | 64 | 35 P2, B2 Oy
347 | 64 | 13 ®3, P4

348 | 64 | 51 P51 D7,

349 | 64 | 93 Bg3 O3

350 | 64 | 45 i, 15 P2
351 | 64 | 45 D2, B2 Ps




Nr I d w1 W w3 | polynomials

32 | 64 | B | B 1 X | @75 Do5 D5

353 | 64 5 i i Lo ek a2

354 65 | 126 | & 3 e | P12g Pug P1s P1a Ps Py Do

355 | 65 | 88 | & | 2 | A | Bgs Pay D1y s o

356 65 24 = i 4133, 07 6 03 s

37 | 65 | 72 | & 3 2| @ra Pgg Doy P1s Py Py s D3 o
38 | 65 | 22 | L | &2 | Z |33, ¢y B3

359 | 65 | 56 | 4 | 1% 3 2 Byy Bg D7 Dy

360 | 65 | 84 | & | o 3| Pgy Pap Pog P1y P1o Pg Py Py Do
361 | 65 | 72 | L | 2 L | Bro B3g Poy Pis P12 Ps B Dy D3 o
362 65 30 | & 3 | 03 9% @3 D D2 O3 Py

363 | 65 | 18 : : | D3 @) D O3 Do

364 65 48 i 2 1] 03 2, Bip g D B3 By

365 | 66 | 192 | & | 1 31| @igp @3

366 66 84 = 1 10| Bgy Byp Pog P1y 1o Bg D7 D2
367 | 66 | 67 | & | & | 2 | D

368 | 66 | 140 | & | 1 5| @140 Pos 7

369 66 60 = i 2 | ®go P3p P2 P15 D2, D1 D2 02 B2 B3
370 | 66 | 67 | &+ | A | 2 g

371 66 48 = | & i | @3 @3, 0%, 02 B}

372 66 12 & 3 | 0}, 9F 0 0F 0F 0¢

373 | 66 | 120 | & | & 1| @ia9 oo Do P15 D3

374 | 66 | 105 | % i & | Pros Por @7

375 66 28 z 2 1| P35 D1y B2 B} B2 B2

376 | 67 | 128 | & | 1 | Sk | Pios Py D

377 | 67 | 2 | 5 | 4 3| Br B3g Poy Pis P12 Py Bg Dy D3 o
318 | 67 | 102 | £ | £ | 3| B Paq Bir D Do

379 | 67 | 96 | = | 1 29| g Pug Doy P12 Pg Py B3 Do

380 | 67 | 80 | £ | 2 1| @so Pag P2 P1o 5 Py Do

381 | 68 | 33 | & | 1 2| 2, 93, B 92

382 | 68 | 23 | & | & | & |93 92

383 68 160 | 15 3 2| @i D5

384 68 18 | & 3 i | @i @F O 03 @F B2

385 68 99 Z a1 L | Dgg By Py

386 68 | 66 | & | = | 9 33 P2 3

387 | 68 | 120 | 1L 3 25| Pr2o Peo P3p P15 Ds

388 68 20 2 £ 1| 3y @3, ¢ @1 @5 B}

389 69 44 = 3 By D3, D7, B2 O3 2

390 | 69 | 130 | & | 1 P30 P25 P19 5 P2

[}
ot




Nr I d w1 W polynomials

391 69 28 Ll & O3, 03, O3 0?2 3 02

392 69 | 42 | & x 3, B3, Dy O} 3

393 | 69 | 80 | & | &% Pgy Pag P16 P1o Ps P5 o

394 69 40 5| & O3y B1g B D5 Dy

395 | 69 | 112 | & | L P12 P15 Pra 7 P2

396 | 69 | 132 | & | 1 P39 Pos Pro Ps Py o

397 | 69 30 | 5 | % B3, B3, Bip BE By D3 Dy

398 | 69 | 28 | L | 2 D3 3, O7 F O3

399 | 70 | 204 | & | 3 Bopy P12 Py

400 70 78 = i Brg Dyg Dog P2 D2 B3

401 70 72 5 3 Bry Bzg Doy Pig Pro P2 B D7 B3
402 | 0 | 1| &2 Py

403 | 70 | 132 | & | & P30 Pag P11

404 | 70 | 1 | & | B D7y

405 | 70 | 120 | & | % D120 Pao Poy P15 5 Py

406 70 51 & | &2 5, 02, 2 02

407 70 99 -+ 2 Doy D1q

408 70 51 | & o2, B3

409 70 24 3 3 o3, 03, OF O P} 2 03 P2

40 | 71 | 138 | & | % P35 Pug P Py Do

41 | 71| 96 | 5 | 22 Do P32 Doy P12 Ps Pg Dy D3 o
412 | 71| 136 | & | % P36 Pg Dy Do

43 | 71| 132 | & | & P30 Pag 1o Pg Py D3 Do

414 | 71 | 128 | & | % P1os P Py Do

415 71 80 | &% 3 P30 Pao P20 P10 Ps Ps5 Py P
416 | 71 | 126 | & 2 D126 Paz P1g P1g Py P P P2
417 | 11| 120 | &5 | & Pi1og Py Poy P12 Ps Pg Dy Py Do
418 | 71 | 108 | & | & P05 P3g P15 P12 Py P Py 3 o
49 | 71| 9% | L | & Do Dyg Doy P12 Bg D By Dy o
420 | 72 | 105 | = | % P15 Doy P15 P3

421 | 2 | 13 | 2 | &2 P73

422 72 92 = 3 gy Dy 2 D2

423 | 72 | 8 | & | % Pg5 P2

424 72 73 2 i3 Drg

425 72 7 = i Oy 2

426 | 72 | 13 | & | 22 P73

427 | 72 | 144 | & : T | Praa Pas Py D5

428 | 72 | 0 | &5 | % 3| By B35 P14 PF) D2 3

429 | 72 | 13 | & | B | 2 1P

K}
w
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Nr I d w1 W w3 | polynomials

430 | 72 | 65 | & | % 2| Og5 B2,

431 | 72 | 13 | B | | B 1Py

432 | 2 | 13 | & | 2B | 2 1 dpy

433 | 72 | BT | &5 | 3 3| 57 03

434 72 105 | 2 3 3| @igs oy Dy5 D2

435 72 156 | & 1 | ®ise Prs

436 | 72 | 105 | £ | & L | @15 Doy D15 D3

437 72 30 = £ | 04 3, Bf B3

438 | 72 | 21 z z | @5 @f

439 | 72 | 92 | & | % & | Pog Py P37 D3

440 | 72 | T3 | & | | 2 1&g

41 | 72 | 8 | & | £ = | Ps5 @2

442 | 72 | 13 | 13| B 2L 1Py

443 72 7 i Z 2| @pp 02

44 | 72 | 13 | & | | B 1Py

445 72 36 5 3 1| 93 2% 02, 03 02 03
46 | 2 | 92 | & | & 1| Po2 Py 0F 3

447 | 72 | 140 | 1 i 1| @140 P70

48 | T4 | T2 | % | 3 32| 92, 93, d2 @y

449 | T4 | 50 | 5= | 82| 2| ) By 0 05 2

450 74 0 | 2 i 3 92) 2, B3, 5 D3

451 | 74 | 45 | 2 | £ | L | @} By5 B D5 Dy

452 4| 40 | 3 i 2| % 93, 0%, 02 D5 D3 O3
453 74 60 | % 2| 92 D3 di5 P2, 5 D3 05
454 | 74 | 39 | & | % 3 | 93y 0%, O3

455 74 4 | & | & | @2, 9%, 05

456 | T4 | 120 | & | % 3| @120 Peo Pyo Pou P15 D5
457 | T4 | 48 | & | & | @Y @3, 0% 02 B

458 74 81 = 2 3| @gy Doy 3

459 74 | 45 i 2 | 0%, % 92 @5

460 40| 42 | B i | @3, 0% 92, 02 By

461 | 74 | 105 | s | 2 | & | @105 Py P15 D5 D

462 | 75 | 48 | & | & 2| D DI By Dy

463 75 84 L i 32| D2, Dog D2, B Dy O3 Do
464 75 16 = 1 3| 93 oF @ @3 OF

465 | 75 | 38 | & | 5 | 2 | @l @i 03

466 | 75 | 108 | 2 | 1 3| Pios Psa Pag Pig Py Py
467 | 75 36 | & 3 | D3 DY DY Dy o

468 75 42 i i 2 | @2, 9% %, O} D3 03
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Nr I d w1 W w3 | polynomials

469 | 75 | 76 | L | 22 | 2L | §rg Pas Prg Py Do

470 75 28 | & 1 1| o35 @3, @3 0y Dy

471 | 75 | 32 i 5 1| 3, @3 P4 o

472 75 12 3 3 1| 0%, F @ o4 03 of

473 76 | 111 | 4 3 2| Dy B2

a4 | 76 | 17 | 2 B | | By By By

475 | 76 | 180 | & | 1L 3% | Piso oo Poo D5

476 76 3 | 2 i 2| 92 D2 02 P2

477 | 76 2 | £ | & 2| @4, 03, 4 D2

478 76 21 Z i 3| o4 @2 o4 92

479 | 76 | 33 | & | & 2| 92, 3, 2 92

480 76 60 > 3 L | @go P30 PFy D15 D12 DI g P2 BT D3
481 76 | 105 | 2 i | ®io5 P35 O

482 | 76 | 99 | & | 2 | 0 | Dyg By By

483 | 76 | 135 | & i = | 135 5

484 76 105 z = 2| D15 Doy D5 Pr D3

485 | 76 | 120 | 1} i 2| Pr20 Peo Pap oo D5

486 77 | 150 | 2 3 1B @50 Do Py Pro P Py Do

487 7| 104 | & | 2T 2| Digq Pog P13 Ps Do

488 | 77 | 144 | 5 | & | L | Pias Pus Prg D6 B3 Do

480 | 77 | 40 | & : 5| D3 Doy DI, BE D2 02 B3 D2

490 77 12 = 3 2 | @, of 0§ ¢F o7 &F

491 700130 | & | & | o | Puso P Pisz Pro P2

492 T 036 | 5 2 3| 03 DI P1p D D Dy D3 o

493 | 77 | 90 | & | & 3| @gg Pas P30 P15 1o Py P Py Do
494 77| 108 | = i 2| @105 Py Doy P Py 0o

495 7 90 2 : 2| @go a5 P30 P15 Pro P D5 Py Do
496 | 77 | 120 | % : & | @120 Peo P30 Pos P12 s P Py Do
497 | 77 | 96 i o 2 | Bgg Pag P2 P15 D D3 0o

498 | 78 | 228 | = 3 3T | Pog P1o B3

499 78 | 100 | 5 1 32| D99 Pso P2 P1o D7 P2

500 | 78 | 79 | S | | 3 g

501 78 | 168 | & i L Dgs By 7

502 78 70 L i 2| By By B2, By D2 B2

503 | 78 | 79 | & | B | Z | dy

504 | T8 | 5T | &5 | 3 | 02, @3

505 | 78 | 84 | & | 1 | 02, Pup Poy P12 D5

506 | 78 | 105 | Z i 3| Dyp5 Py5 D7

507 78 | 126 i i Z | 1o B3 7




Nr I d polynomials

&
§
S
w

508 78 60

509 78 112

1| P8 P Pao B, Pro B3 PF 3
1| @i12 P56 O7

510 79 | 152 5| D50 Py Dy 0o

511 79 150 T | By50 Pso P3g Pro P P5 Do

512 | 79 | 96 1| By g Doy Brg D1y Dy By Dy Dy By

513 | 79 | 144 L | Praa Pag Prg Ps Oy Py

514 | 79 | 140 L5 | Prao Pos Pag Pro P5 Py Do

515 79 | 128 29| @1ag D1 Ps Py Do

516 79 120 | @rog Pag Pay Pog Pro Ps P5 Py P

517 79 96 3 | Pog Pus Pgz D1 Pg Oy Py

518 | 79 | 90 L Bgy By5 Byp By Prg Py D Bs Do

519 79 100 2L | Digg Pso Pag Pro P5 Py Do

100
520 | 80 | 39 D2, D2, B3 P2

521 | 80 | 27 33, 03 03 32

522 80 | 95 g5 P2

ol |l lfl‘q Wl o= o= g‘: %‘5 g‘; a“w ool g‘: [T N E‘“ S

523 | 80 | 30 B3, B2, 33, ! B2 B3 P} 2

—
_

524 80 81 By oy g O3

525 | 80 9 P ©3

526 80 T

~ies |obe |ZS |5l | gle (N5 |Ele

D77 B,

Ju—
—

527 | 80 | 27 D3 3 D3 P2

528 80 81 Dgy Doy Py Py

e I N e o = o S g T g ey Y M E S S R T N E S S

529 | 80 | 136 D136 P17

530 | 80 | 21 ol 1 33 P2
531 | 80 | 117 D117 By By
532 | 80 | 39 ®3, i

533 | 80 | 165 | & Dg5

534 | 80 | 39 D2, B2, BF B2

535 | 80 | 18 DY, D} Ot B3 D4 02

536 80 27 3, By O3

537 | 80 | 95 D5 DF

538 80 81 By Doy g O3

539 | 80 | 30 ®3, O3, B3, L 1 B

540 | 81 | 52 Dsy D2, B2, B2 D3 B2

541 81 80 D2y P15 P1g D5 Do

542 | 81 | 52 32, 02, B3 O3

543 81 82 Bgy Py1 Do
544 81 20 o3, 3, P2 07 3 02
545 82 240 Doyp Pug P3

-
Bl [wim (= |Gl [wim (ool [wi= |oue (]S ol |ome [ol [Z]~ o= [5H]e :‘&i wie [l (B3 |Slen [wi= o= |2

cotms 2158 i (212 [l 10 [ [orim 215 [l (851 festm [coim Jesim feotm [osim ot fames (22l [

= &= |3~ B~ 5= |3l (Bl= (o= |2ln Bl | o |E]s

546 82 60 gy P3o B3y P15 P12 Py P P2 D7 PF P3 DY

[~}
(=)
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Nr I d w1 W w3 | polynomials

547 82 132 | 2 1 1| @132 Pes sz 3

548 82 45 | & i | @ By 02 D2 D3 @2

549 82 150 | 15 = | @150 P75 D5

550 82 48 3 = 3| B Doy By D1 D2 B D2 D3 02 B2
551 83 | 162 | & 3 T8 | @162 Py P1g P Py Do

552 | 83 | 112 | & | 22 | ZE | @110 Qog Dig Pa D7 Dy Do

553 | 83 | 160 | & | 1 | &5 | Pio P32 Py Do

554 83 | 156 | = i DB | @y56 Do P12 P Py B3 Do

555 | 83 | 154 | S | 1 | & | ®iss Poo Py 7 Py

556 | 83 | 96 | 15 | s5 | 4 | Do Pug P32 Pig P12 P Py D5 0o
557 83 144 | &5 = S| @rag Pug Prg Pro Ps Py Py Do
558 83 | 140 | &4 2 I | @149 Pog Doy D1y Pr Py P

559 83 88 = 1 3| gy Pag Pao P1y Py Do

560 83 126 | 5 2 B | Drog Pug Pog Prg D1y Pr P Dy D
561 | 83 | 108 | & | 2 | % | Pios Pss P3g P1s 1o Ps Py D3 Do
562 83 90 = 2 L | oo Pus P3o P15 P15 P1o Ps D5 P3 o
563 | 83 | 120 | & | 1 | 25 | @120 Peo P30 Pas P15 P12 Ps Py Py Do
564 83 | 108 | & | & | Doz Pog Por P12 g Py D3 Do

565 83 96 53 2 1| Pog Pug P32 Doy P1o B Py Py Do
566 | 83 | 100 | & | {5 | 1 | ®ioo Pso o5 Py P2

567 84 | 123 | 4 % 20 | Py3 B2

568 | 84 | 85 | 2 | Z | & | D5 D7 P

569 84 | 108 | 3= 1 32| Dios Byy Pag Pis P12 D BT D3
570 | 84 | 40 | & | % 0| @) O @5

570 | 84 | 17 | & | & | & |9} of

572 | 84 | 91 | & | 1 | ®g; @2

573 84 88 = z 2| Bgg Pug Pop P2 P2 B2

574 | 84 | 85 | & | B | 2| dg 17 B

575 | 84 | 85 | L | 8 | B | &g 7 D

576 84 156 | & i 2| @is6 P2 P13

577 | 84 15 | £ i 2| of; @2 2 of

578 | 84 | 34 | & | & | £ |01, &y P4

579 | 84 | 85 | & | ZE | 22 | Og5 By7 05

580 84 66 = % 1| Bge P33 P2, B2 D B2

581 | 84 | 123 | A | B 3| Piog @3

582 84 | 60 | & 1 | @3, @%) @3, 01 02, D6 D? D2
583 | 84 | 117 | & | 2 | @iy P13

584 | 84 | 123 | 2 | & 3| @iog 03

585 84 | 168 z i $ | Pies Psa Puo
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Nr I d w1 W w3 | polynomials

586 84 10 = i 3 8, 02 0f of

587 | 84 | 17T | & | & | & |9} of

588 84 88 3 Z S| Bgs Pug Poo P2 97 B2

589 | 84 | 85 | & | &2 | Z | 0g5 Pyr 05

590 84 | 36 5 2 1| o3 @3 03, D 0 04

591 84 | 40 : i 1| 0% %, @3, 03

592 | 84 | 25 | o | 1 L | @ @5

593 | 8 | 96 | & | & 2| @35 Dsp P D3 Dy

594 85 72 = 1 3| @2, B3, Bi5 Oy Pg D D3 Do
595 85 24 3 i L | @3, 03, Bf B} DF D4 D3 Of
596 85 60 | 3 3 1| 2 D%y Pap D2, D1 B B5 Py Do
597 86 84 = 3 o | 92, 3 2, BF D5

598 | 86 | 58 | 55 | i | i3 | DF; Doy B2

599 86 | 45 | 2 3 | 03, % 92 2 By

600 86 | 63 | 5 | 2 | @2 02 @,

601 | 8 | 168 | & | £ 3| ®igs Psa Doy P1o Py

602 86 105 | & | 4= 3| @ios P35 P15 5 3

603 8 | 48 | i | @ @3, 0% 02, D2 B2 Dy
604 | 86 | 147 | % | 1 | Py @

605 87 | 56 | 5% 3 2T D3 DF Dy Dy

606 | 87 | 160 | & | % | 15 | Piso P32 Ps Ps Do

607 | 87 | 32 | & i £ | 93, o35 B OF OF B3

608 | 87 | 154 | L | 2 | L | ®i5y Poy Pry D11 Do

609 87 44 = | % 2| @3, Do @1y OF P,

610 | 87 | 84 | & | 1 2| B2, Dy Doy B, g Dy D3 Py
611 87 | 40 z = | 93, 93, 2, B D2 OF B3 D2
612 87 32 2 1 1| 03, @3 @3 By Py

613 | 87 | 112 | & | & | I | iz Pse Pis s Py Do

614 87 | 140 | 1 = 1| Prao Pro Do Pro Py Py

615 | 88 | 129 | L | 1 2L | By B2

616 | 88 | 89 | & | B | £ |y

617 88 | 105 | 3 32| @15 P35 P15 D2

618 | 88 | 89 | & | # | = | Pso

619 | 8 | 180 | 5 | & = | ®iso Peo P3s P12 Py D3

620 88 84 = i 3| Dgy Dyp Pog oy D1y B2, 2 02 03 P3
621 | 88 | 89 | & | H | 2 | s

622 | 8 | 69 | 5 | 1 | @y P24

623 | 88 | 129 | & | 1 3| @iog 03

624 88 | 60 | & i | B3, @3, 03, 015 D2, B2
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Nr I d w1 W w3 | polynomials

625 88 | 45 i i 1 | @ 015 DY D2 D2 92

626 88 70 z i 2| B2, B35 D2, B2

627 | 89 | 174 | & 3 B | Prps Prg B Py Do

628 | 89 | 120 | 55 | 5 | 2 | P1o0 Pao P30 Pos P15 1o Ps P D5 Py Py
629 89 | 170 | & i S| @17 Pyy Prg D5 Do

630 89 | 108 | & | 105 | 35 | Pios Pss Py Prs Py P P3 Dy

631 | 89 | 168 | & | & | 1% | Pies Pse Pou s P D3 Do

632 89 | 162 | & : I8 | @162 Py P1g Py P D3 Do

633 | 89 | 100 | 15 | 1o5 | a5 | Pioo Pso P25 P10 5 P2

634 | 89 | 160 | 15 | & | 1% | Pieo P32 1o 5 P2

635 89 96 = 3 | Pos Pus P32 Poy 1 Ps P Py Do
636 | 89 | 150 | = | 2 | 2% | Piso Pso P30 P15 P10 Ps P5 Py Do
637 89 | 144 | & i 3| iy Pyg Prg Prg Py Ps 3 Do
638 89 108 3 & 2| @ios Psa P3g Pr1s P12 Py P Py Py Do
639 | 89 | 126 | 5 | & | 2L | P16 Pey P1s Py P D3 Do

640 89 120 = = 35| @120 Poo P30 Pos P15 Pr2 P1g Ps D5 Py Do
641 | 90 | 264 | & | 3 2| Dogs Poy 3

642 90 | 116 | 55 1 35| P11 Py P 2

643 90 91 = 52 32| @y 13 D7

644 90 | 102 | & 3 | Dig2 P51 P3q P BF D3

645 | 90 | 28 | L | 1 32| g Dy 0

646 90 52 | & | & L | 92, 935 13 BT D3

647 | 90 | 91 | & | 2 | & | e P13 P7

648 | 90 | 90 | L | 1 3| Bgg Pus P3p P1s P15 2 D PZ D2
649 | 90 | 176 | & 1 | @176 1

650 | 90 | 49 | & | 1 3| @2 @

651 | 90 | 26 | & | & | 3% | 9% P13 0

652 | 90 | 91 | & | & | 3 | Dy P3Py

653 | 90 | 80 | 1% i 2 | gy Py Po P25 D1 D2 B? D2

654 90 152 | &5 1 3| @50 P

655 | 90 | 91 | o | B | 3 | Dy i3 Py

656 | 90 | 66 | 5 | =% i | B B, 02 B3

657 90 48 = 1 | @i @3, 0%, 02 @3

658 9 | 33 | & | & | @i @3

659 90 30 | & : | 03, @3, ¢f) 6 O 02 03 @2

660 90 | 116 | & 1 =% | P116 Pss 07 2

661 | 90 | 13 | &£ | & | 75 |@]; e

662 90 | 102 | & 3 2| g2 P51 P3q P BF D3

663 | 90 7 i i 2 | ol® o2




Nr I d w1 Wo w3 | polynomials

664 90 91 o 38 2| gy 13 7

665 90 | 44 | & 1 1] 9%, 92, 03

666 | 90 | 116 | = | = 1 | Pi1s Pss @3 @3

667 90 84 z 3 1| D2, Byp Pog Doy B

668 90 56 i a 2| B2 D3 B2 D7 D3

669 91 176 | & 1 B D176 D1 Py Do

670 91 24 | & 3 4| @3, o1, o} o} 0 04 05 of
671 91 84 | &4 i S| @2, 3 D1y Prp Pr Dy Do

672 | 91 | 96 | & | 1 3| Pog Pus P32 Poy P1g P12 Ps Py Py Do
673 91 138 | & z T | Piss Pag Pag P P2

674 91 126 | &4 2 3| ®ra6 Pes Pr1s Pra Pr o

675 | 91 | 120 | § | & 3| @120 Peo Pag Pyo Doy Pro Ps Py o
676 91 132 | 2 1 A5 | @ig2 Do Pyz P12 B Dy D3 o
677 | 91 72 z 3 2| B2, 3 g By By By Do

678 91 16 3 2 1| o] of @5 95 of

679 92 45 | & 3 2 | 9%, 0%, 92 92 03 92

680 | 92 | 31 | 5 | = | £ |03 @2

681 92 | 220 | 5 i 2L | Pggg oy D5

682 92 24 = 3 L | 04, o1, O B¢ B} B3 F D2
683 | 92 | 135 | Z | B 3| D35 Doy D

684 92 30 | % | 04, 9%, @f, OF 02 03 03 @2
685 92 99 = 2 3| Bgg B33 P1q 3

686 | 92 | B | = | 1 | ®% By5 3

687 | 92 27 5 = L | 04, 92 93 92

688 92 105 | & | & 3| @15 P35 P21 D7 3

689 92 165 | & i 22| g5 P15 s

690 | 92 | 31 | & | L | & |3 @2

691 93 | 60 | 35 3 29| g D) Doy DI B1p DY, B2 D2 D2 02 BF B2
692 93 | 132 | & 1 3| @izp Pog Pua Pop Py Do

693 | 93 | 180 | & | 1 3 | Piso Poo B3 P1s Py Dy

694 93 | 40 | & | = 1| 03y By B2, D D2 D3 O3 P2
695 93 140 | + 3 1| Prao Pro Pog Pra Py o

696 93 36 | & : 1| 035 @3 @1 BF D2 02 02 3 P2
697 94 | 276 | 4 % 33| Darg P12 3

698 | 94 | 90 | 2 i 2| @3, 93 DI, B2 D D5 03

699 | 94 | 57 | &5 | 2 | 5 | 0% g P2

700 94 50 | & £ 2| 92, 9%, 92, D5 D3

01 | 94 | 76 | 15 | o | 2 | D% Dy B3

702 94 | 69 | 5 | 2 L | Bgg B3, 02 B2

[~}
w




Nr I d w1 W w3 | polynomials

703 | 94 | 135 | £ | L | A | @135 Por D5

704 | 94 | 105 | {= | 1 & | @ros P35 Poy P7 D5

05 | 94 | 60 | F | § | @ |03 23 BF B3, B 0F 05 B3 O3
706 | 95 | 186 | & | 3 | &% | Piss Pex P Py Do

707 | 95 | 128 | 5 | 3% | & | Pis Pso Pig Ps Py Do

708 | 95 | 184 | & | 1 | B | ®gq D5 Py Do

709 95 36 | 1% : | D3 DY, g DF O3 Do

710 | 95 | 176 | & | 1 | 2L | D76 Pig Ps Py D

TIL | 95 | 168 | 5 | 51 | e | Pios Pse Pos Pio Ps Pg Dy B3 Do
712 95 32 = 2 2| D3, D15 Dy Dy Oy

713 95 40 = 3 3 @) Pag P1g P D5 P4 o

714 95 144 | 5 z 2| iy Pug Pog Prg P12 Pg P Py Py Do
715 95 2 | i i | @}, ®% 03, B2 b6 Dy Oy

716 | 95 | 54 3 3 2| @3, 93, b6 D3 D,

717 | 95 | 108 | {& | & 2| Pros Pss P3e Por P12 Ps Py Py Do
718 95 24 3 3 2 | @3, 0%, DT D6 D D5 Do

719 | 96 | 141 | £ | 3 2| Dy P2

720 | 96 | 97 | & | B | 5T | Dy

721 | 96 | 124 | & | % 32| Dro4 Por PF D3

722 | 96 | 115 | & | 1 5| 5 @2

723 | 96 | 97 | & | &£ | 22 | Doy

724 96 | 105 | X i | Dyg5 Py Poy P2

725 | 96 | 97 | o | £ | 32 | Por

726 | 96 | 99 | & | & I | @og P33 P2 2

7201 96 | 97 | & | & | 5 | Do

728 | 96 | 91 | 5 | 1 3| @y B

729 | 96 | 97 | & | £ | & | D

730 | 96 | 8 | = | 1 2| D5 B2,

731 ] 96 | 97 | & | B | 3 |

732 ] 96 | 97 | o | 2 | 2 |y

733 96 75 = 3 L | @r5 B35 By5 B2

734 | 96 | 141 | & | 2 | @iy 03

735 | 96 | 204 | & 1 | @a0s Pro2

736 96 | 141 | 2 ° L | Py 03

737 | 96 | 195 | & | 1 | ®igs

738 | 96 | 141 | = | L L | @ 03

739 | 96 | 63 5 z | 02, oy P2

740 | 96 | 115 | & | 1 5 | Puis B2

741 | 96 | 97 | &2 | &£ | 2 | Dy




Nr I d polynomials

g
g

742 | 96 | 99 Doy D35 P2 P2

743 96 97 Dgy

744 9 | 124 D14 Doy D7 P2

745 96 180 D150 Pgg Poo P30

746 | 96 | 115 Byy5 D2
747 | 96 | 97 Doy
748 | 96 | 35 ®3, i

749 97 182 D1y Pog P14 P7 P2

‘g‘ T T T el EETE T S R ST [ e[

750 97 112 D12 Psg Pig P1g Pg Pr Do

S s g‘g e | QI [Blor e [wi= (92 |2l || £

‘»—l E’;‘)& ;‘»—\ Eﬁ‘»—t &‘»—A E"—' E‘»—t E‘H E‘m = 3‘; ww ©l~ ﬁ\w g‘@ ©l=

112
751 97 | 168 B Lo | @15 Prg Pos Pra Ps P7 Do
752 | 97 | 126 55 | 1 | Pras Pes Pig D1y Py D7 Py
753 98 | 96 3 o | D2 2, D5
754 98 | 66 ia 2| D2 Dy D3, Dy DE Dy B3
755 98 | 104 z S| @104 Py Pog D2 D2 D3
756 98 | 90 5 5| @3, 3, DI, B, By D2 O3 B2
757 | 98 55 L= 2| @2 04y D2
758 98 54 | & 5 5 | @2, 9%, B 0y BZ D5 3
759 9% | 88 | L | & 39| 25 Dy B2
760 98 99 52 52 | @og Ps3 P11 Py D3
761 98 60 3 2| @) 3 P15 B2, D5 D2 0y
762 | 98 | 51 1 | @ B2 Oy
763 98 72 z | 92, 9%, 92, D2 Oy
764 | 98 | 156 1 3| Pise Prs 3o s
765 98 192 &= | @92 Pos D5
766 98 45 2 3| @3 Bi5 B2 D5 D
767 | 98 | 60 1 | B, B3, B3, B2 B, D2 By
768 98 54 | 92, 92, 92, B2 Oy
769 98 24 | @, @f, o8 @]

37

770 98 135 155 | Pi3s Por g P3

771 98 | 66 | @2y D2, yy PE D3

772 99 64 3193, @4

773 | 99 | 190 15 | 190 Pas P1o P5 Dy

| 99 | 40 | 0% o o, 93 03 0} 03 o3

775 99 20 = | DY D1p D5 DY Py

776 | 99 | 48 | Dl DI Drp B Dy B3 Do

777 | 99 | 160 25 | Prso Paz Pag Pro 5 Py Do

778 | 99 | 104 3| @ioa Psz Pog Pi3 Py Py

779 99 50 | @3y Doy DY, 5 D3

‘»—A g‘u ;c_é‘m B‘H 5‘»—\ 5‘}—‘ 8‘>~ g‘yb C[g‘,_. :‘H ©l— ool ﬂ‘w B‘»—A ;‘H g‘»—l %‘w ﬁ‘»ﬂ ﬂ‘m c’;‘»—t g‘(}o

sl |Bloo | (B[ ool Sl (Sl et et [for |Eor oo (o1 |

780 99 16 | 94 o o] @F B¢

[
[=2]




